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NEUTRALIZATION REACTIONS

For the following acid-base reactions, write a balanced chemical equation and solve.

1. How much 2.0 M H,SOy is needed to neutralize 1.0-L of 2.0 M NaOH?
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2. How much 5.0 M H,SOy 1s needed to neutralize 1.0-L of 2.0 M NaOH?
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3. If 1.0-L of H,SOy is needed to neutralize 1.0-L of 2.0 M NaOH, what is its concentration?
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4. 1f 4.0-L H,SOq4 1s needed to neutralize 1.0-L of 2.0 M NaOH, what is its concentration?
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5. How much 2.0 M HCl is needed to neutralize 0.5-L of 5.0 M Ca(OH),?
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6. How much 1.0 M HCl is needed to neutralize 0.5-L of 5.0 M Ca(OH),?
* 5 mol BCl needed

\ |
2 | [5-L o5 lom we

.0 =— '




7. 1f 1.5-L of HCl is needed to neutralize 1.0-L of 5.0 A Ca(OH),, what is its concentration?
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8. If 10.0-L of HClI is needed to neutralize 0.5-L of 5.0 M Ca(OH),, what is its concentration?
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9. How much 2.0 M H;3PO, is needed to neutralize 0.5-L of 5.0 M KOH?
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10. How much 1.0 M H5POy, 1s needed to neutralize 0.5-L of 5.0 M KOH?
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11. If 1.5-L of H3POuis needed to neutralize 1.0-L of 5.0 M KOH, what is its concentration?
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12. If 10.0-L of H3PO4 1s needed to neutralize 0.5-L of 5.0 M KOH, what is its concentration?
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